Ph 12b Quantum Physics 18 February 2010 Coherent States

Note Title

The ground state is also a Gaussian in the monthum  
representation, as seen by fourier transforming, or  
by noting that we can represent 
$$\xi = i\frac{d}{dp_{\xi}} \Rightarrow$$
  
 $0 = \hat{\alpha} \left( \ell_0(p_{\xi}) = \frac{1}{\sqrt{2}} \left( i\frac{d}{dp_{\xi}} + ip_{\xi} \right) \left( \ell_0(p_{\xi}) \right) \Rightarrow$   
 $\left[ \frac{\widetilde{U}_0(p_{\xi}) = 1}{T^{W_{\xi}}} \frac{e^{-p_{\xi}^2/2}}{T^{W_{\xi}}} \right] \frac{Ground state is minimum}{maxertainty wave packet, with}$   
 $\langle \hat{\xi} \rangle_0 = \langle \hat{p}_{\xi} \rangle_0 = 0, \quad \langle \hat{\xi}^{m} \rangle_0 = \langle \hat{p}_{\xi}^{m} \rangle_0 = \frac{1}{2}$   
 $Excited state wave functions are obtained by applying
powers of  $\hat{\alpha}^+$  to the ground state.  
 $\hat{\alpha}^+ = \frac{1}{T^2} \left( \frac{g}{g} - \frac{\partial}{\partial \xi} \right) \Rightarrow \left| q_n(\xi) = \frac{1}{\sqrt{n!}} \frac{1}{2^{W_{\xi}}} \left( \frac{g}{g} - \frac{\partial}{\partial \xi} \right) \frac{1}{\pi^{W_{\xi}}} e^{-\frac{g}{g}/2}$   
 $where H_n(\xi) = \frac{1}{\pi^{W_{\xi}} 2^{W_{\xi}}} \frac{H_n(\xi)}{e^{-\frac{g}{g}/2}} \left( \frac{g}{g} - \frac{\partial}{\partial \xi} \right) \frac{1}{\pi^{W_{\xi}}} e^{-\frac{g}{g}/2}$   
 $a degree-m polynomial with n real zeros.
For example, the first excited state is
 $\left( \ell_1(\xi) = \frac{1}{\pi^{W_{\xi}} T^2} \left( \frac{g}{g} - \frac{\partial}{\partial \xi} \right) e^{-\frac{f}{2}/2} = \frac{1}{\pi^{W_{\xi}}} \frac{g}{g} e^{-\frac{g}{g}/2}, \frac{1}{\pi^{W_{\xi}}} \frac{1}{g} e^{-\frac{g}{g}/2}, \frac{1}{\pi^{W_{\xi}}}$$$ 

Furthermore, These functions are orthogonal:  
Size 
$$Qn(\xi)(Qm(\xi)) = \frac{1}{\pi t^2 h!} \int_{-\infty}^{\infty} \int_{-\infty$$

To prepare a coherent state displace chorat state, imagine displacing.  
The ground state wave function to the advection of the origin, obtaining a Gaussian cantered at 
$$\xi = \xi_0$$
. This displaced Gaussian is no longer a stationary state - the oscillator's restoving force pushes it back toward the origin. To study this motion, we expand the displaced Gaussian in terms of energy eigenstates.  
Hiw do we displace a wave function? Since  $\hat{P}_{\xi} = -i \frac{d}{d\xi}$ , note that  
 $\hat{U}(\xi_0) = \exp(-i\xi_0, \hat{P}_{\xi}) = \exp(-\xi_0, \frac{d}{d\xi}) = \sum_{m=0}^{\infty} \frac{1}{m!}(-\xi_0)^m (\frac{d}{d\xi})^m$ ,  
which acting on a function  $U(\xi)$  yields  
 $\hat{U}(\xi_0) = U(\xi) = \sum_{m=0}^{\infty} \frac{1}{m!}(-\xi_0)^m (\frac{d}{d\xi})^m$ ,  
Thus  $\hat{U}(\xi_0)$  is a displacement operator. It  
rigidly shift a function centered at origin to function  
 $\hat{P}_{\xi}$  generates displacements:  
 $\hat{U}(\xi_0) = \lim_{N\to\infty} (\hat{I} - i \frac{\xi_0}{N} \frac{\chi_0}{2})^N$ , where  $(\hat{I} - i S \hat{P}_{\xi})$  displaces by S.  
Since  $\hat{P}_{\xi} = -\frac{i}{\sqrt{2}} (\hat{a} - \hat{a}^+)$ , displacement operator is  
 $\hat{U}(\xi_0) = \exp(-\frac{\xi_0}{\sqrt{2}} \frac{d}{\sqrt{2}})^N$ , where  $(\hat{x} - \hat{x}) \hat{y} \frac{d}{\sqrt{2}} \frac{d}{\sqrt{2}}$ .

we can differentiate using the product rule  $\frac{d}{d} \left[ e^{-\lambda \hat{B}} e^{-\lambda \hat{A}} e^{\lambda (\hat{A} + \hat{B})} \right]$  $= e^{-\lambda \hat{B}}(-\hat{B})e^{-\lambda \hat{A}}e^{\lambda(\hat{A}+\hat{B})}+e^{-\lambda \hat{B}}e^{-\lambda \hat{A}}(-\hat{A})e^{\lambda(\hat{A}+\hat{B})}$ +  $e^{-\lambda\hat{B}}e^{-\lambda\hat{A}}(\hat{A}+\hat{B})e^{\lambda(\hat{A}+\hat{B})}$  $= e^{-\lambda \hat{B}} \left( - [\hat{B}, e^{-\lambda \hat{A}}] \right) e^{\lambda (\hat{A} + \hat{B})}$ What is this commutator? In general,  $\begin{bmatrix} \hat{B}, \hat{A}^{n} \end{bmatrix} = \begin{bmatrix} \hat{B}, \hat{A} \end{bmatrix} \hat{A}^{n-1} + \hat{A} \begin{bmatrix} \hat{B}, \hat{A} \end{bmatrix} \hat{A}^{n-2} + \hat{A} \begin{bmatrix} \hat{B}, \hat{A} \end{bmatrix} \hat{A}^{n-3}$ +--- + An-' [B, A] But if A commutes with [B, A], then [B, Ân] = n[B, Â]Ân-1 and hence  $\begin{bmatrix}\hat{B}, e^{\lambda\hat{A}}\end{bmatrix} = \begin{bmatrix}\hat{B}, \underbrace{\geq} \frac{\lambda^{n}}{n} \hat{A}^{n}\end{bmatrix} = \lambda \begin{bmatrix}\hat{B}, \hat{A}\end{bmatrix} \underbrace{\geq} \frac{\lambda^{n-1}}{(n-1)!} \hat{A}^{n-1} = \lambda \begin{bmatrix}\hat{B}, \hat{A}\end{bmatrix} e^{\lambda\hat{A}}$ =)  $\hat{\partial}_{\lambda} \hat{\partial} (\lambda) = -\lambda [\hat{A}, \hat{B}] \hat{\partial} (\lambda)$  (since  $[\hat{A}, \hat{B}]$  commutes with all the exponential with all the exponentials) Integrating this equation from 2=0 with the boundary and tion O(0) = I, we obtain  $G(\lambda) = exp(-\frac{1}{2}\hat{\lambda}[\hat{A},\hat{B}])$ Thus  $\mathcal{O}(1) = e^{-\hat{B}}e^{-\hat{A}}e^{\hat{A}+\hat{B}} = e^{-\frac{1}{2}[\hat{A},\hat{B}]}$ , or e^A+B = e^A e^B e^{-\frac{1}{2}[A,B]}, proving the claim.

Also, notice that 
$$e^{\hat{A}+\hat{B}} = e^{\hat{B}}e^{\hat{A}} = e^{\hat{B}}e^{\hat{A}}e^{\frac{1}{2}(\hat{A},\hat{B})}$$
  
(interchanging  $\hat{A}$  and  $\hat{B}$  in the hormola), so that  
 $e^{\hat{A}}e^{\hat{B}}e^{-\frac{1}{2}(\hat{A},\hat{B})} = e^{\hat{B}}e^{\hat{A}}e^{\frac{1}{2}(\hat{A},\hat{B})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{B}} = e^{\hat{B}}e^{\hat{A}}e^{\frac{1}{2}(\hat{A},\hat{B})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\Longrightarrow \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $= e^{-\frac{1}{2}\alpha^{2}}e^{\alpha\hat{A}}e^{-\alpha\hat{A}}$   
 $\overrightarrow{A}e^{\hat{A}}e^{-\alpha\hat{A}}$   
 $\overrightarrow{A}e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\implies \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\implies \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}}$   
 $\implies \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\implies \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}$   
 $\implies \boxed{e^{\hat{A}}e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}}$   
 $\implies \boxed{e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}}$   
 $\implies \boxed{e^{\hat{A}}e^{-\frac{1}{2}(\hat{A},\hat{A})}}}$   
 $\implies \boxed{e^$ 

$$\Rightarrow \Delta \xi^{2} = \langle \hat{\xi}^{2} \rangle - \langle \hat{\xi} \rangle^{2} = \frac{1}{2}$$

$$s_{imilar} R_{j}, \quad P_{j}^{2} = \frac{(-i)^{2}}{2} (\hat{a} - \hat{a})^{2} = -\frac{1}{2} (\hat{a}^{2} - \hat{a} \hat{a}^{4} - \hat{a} \hat{a}^{4} + \hat{a}^{4k})$$

$$= -\frac{1}{2} (\hat{a}^{2} - 2\hat{a}^{4}\hat{a} + \hat{a}^{4k} - \hat{a} \hat{a}, \hat{a}^{2})$$

$$\Rightarrow 2\alpha l \hat{p}_{\xi}^{2} | d \rangle = -\frac{1}{2} (d^{2} - 2d^{4}d + d^{4k} - 1)$$

$$= \left[ \frac{-i}{2} (\alpha - d^{k}) \right]^{2} + \frac{1}{2} = \langle \kappa | \hat{p}_{\xi} | d \rangle^{2} + \frac{1}{2}$$

$$\Rightarrow \Delta p_{\xi}^{2} = \langle \hat{p}_{\xi}^{2} \rangle - \langle \hat{p}_{\xi} \rangle^{2} = \frac{1}{2}$$

$$and \quad \Delta \xi \Delta p_{\xi} = \frac{1}{2} \quad at old times. The minimum intertaintly is maintained, 
and \quad \Delta \xi \Delta p_{\xi} = \frac{1}{2} \quad at old times. The minimum intertained, 
as wave packet excentes 
$$clossical motion.$$

$$Debye - Waller Factor$$

$$Suppose a hermonic oscillation is in its ground state, 
until I suddenly but it with a hammetr, an 
impulse that transfers momentain Spg to the oscillator. 
A classical oscillator would surely get excited---but 
what happens to a quantum lossicillator? It might 
stay in its ground state, 
$$\Delta t were already discussed, disploring momentum 
by  $\delta p_{\xi}$  transforms ground state  $10\rangle$  to   

$$\hat{J}(i \frac{Spg}{T_{2}}) = 1 = |\alpha| = i \frac{Spg}{T_{2}} >$$

$$If we measure in the energy eigenstate basis, after 
the impulse, the probability of being in the ground state is: 
$$f_{10} = |\langle 0| a \rangle|^{2} = -\frac{|\alpha|^{m}}{T_{2}} = e^{-i\alpha|^{m}} = e^{-i\alpha|^{m}}$$$$$$$$$$

which is called the = Debye-Waller Factor"  
The energy Kransferred to the oscillator is  
SE = 
$$\frac{(Sp)^2}{2m}$$
 and the expectation value of the energy increases  
 $\frac{2m}{2m}$  by this amount:  
 $2\alpha/\hat{H}/\alpha$  - <0| $\hat{H}$ 10) = tw < $\alpha$ latald = tw lal<sup>2</sup>.

١

rel

Because the crystol has a very large mass M, the recoil energy Pr/2M is negligible, and as a result the energy of the emitted photon is very sharply defined.

Correspondingly, if the crystol is moving at a small but nonzero relocity, the nucleus is unable to absorb the photon.

u∏ [=] absorber In a famons experiment, Pound and RebKa used the Mössbaner effect to measure the gravitational red shift. 22mA photon climbing L= 22 m has Frequency shifted 

They detected this red shift by noting they could compensate for it with a Doppler shift of the frequency as seen by a moving crystol, with velocity V: 1/2~ 2.5×10-15 => v~ 7×10 cm/sec.

For the experiment to work, need spread in Frequency of emitted and obsorbed photon to have aw/w ~ 10-15. (Actually -- They used "Fe, for which aw/w~10", but they we still able to observe an enhancement of the obsorption rate for 570.) In general, if we wish to probe the internal structure of a physical system, we need to slam it with energy Eh two. For Eck two, it will record cohevently, without any internal change in state.

Probing an atom: For Ecc /PT, atom records coherently, remaining in ground state. to any 🦓 (---- Y Proding annaleus: For Ecc IMeV, wherent record. ۷ ---- ۲ Probing the proton: For ELC 16eV, coherent recoil.